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ANSWERS / RUBRICS

Question No: 11

a ) If the general term of the geometric sequenceisa, = 2 x (—3)”*1. Then find its first 4 terms. (5 Marks)
A5)-g /it dedFSutina, = 2 x (—3)" 1 a2 8 kb3~ ]
e Jfsn=1,234.
a =2 x (=3)" =2 % (=3)2 =2 x 9 = 18(1)
ay = 2. (~3)" = 2. (=3)° = 2. (-27) = —54(~#1)
as =2 x (3> = 2 x (=3)* = 2 x 81 = 162~ 1)
as=2.(~3)"1 = 2.(~3)° = 2. (~243) = —486(+2)

BY puttingn =1, 2, 3, 4.

a1 =2x (=3)""' =2 x (=3)> =2 x 9 = 18 (1 mark)

as = 2.(—3)""' = 2.(=3)° = 2. (—27) = —54 (1 mark)
az =2 x (—3)°"1 =2 x (—=3)* = 2 x 81 = 162 (1 mark)
as =2.(—3)"" = 2.(-3)° = 2. (—243) = —486 (2 mark)

Simplify (5133 + y3) =+ (:v + y) . (5 marks)

(#9). (22 + %) + (2 + v) -/~

x-xy+y? (1 mark) oyt (AD
.‘f.'—_:l'_a—v';' -‘C—J'_a—,';

—‘ (1 mark) : A1
-xy+y —:.':3' —;_.':‘
‘1—“ (1 mark) ‘1 ' (AD
J‘.J.-'- _:I.-‘ J‘.J.-'- 4

0?2+ (1 marld 2. 2D
C (1 mark) 0 (4D

Question No: 12

a ) Find the value of 2% + %, when z — % = 7. (5 marks)

(AFS)z— L =1 LySeedle®+ L
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Here,x—%:7 a:—;:‘
(- 1) = (7)2 (1 Mark) (e 2) = (M~ D
x2—|—#—2 :c) %) =49 (1 Mark) 22+ 2 —2(z) ($) =490~ D
22+ & — 2 =49 (1 Mark) 224 L — 2= 49041
2 I .
Tt —‘5151”2 (1kMark) 22+ L — 49+ 2041)
+ = = 1 Mar ;
T 2 ( ) w2+%:51(ﬁ/1)
If x = 2%5 , then make y the subject. (5 Marks)
(F5)- Ll fyine = 25
T = % r = ‘2‘1’7_5
4z = 2y —5 (1.5Marks) 4z = 2y —5(+1.5)
2y =4z +5 (1.5Marks) 2y:4x+5(/1_5)
4x+5 .
= =5= (2 Marks) 4z
Yy 2 y = 45(#2)
Question No: 13
134 Uiy
a ).Find the solution set of the given simultaneous equations by elimination method. (8 marks)
3z +2y=14
x—y=2_8
(/7‘;8)_%’/(()1’”&{Jp(u;bl/;iﬁéfd)c;gi./£L/b3l/
3z +2y =14
T—y=2~8
2J/,)/
Rubric: Se+2y=14_____ (4)
3x+2y=14_____ (7) 2 —2y=16 ______ (i)
L—Yy=o _ _____ (44) c;L/Cf‘Uf(i)c«|:L//31Z“_:.//‘c_b’/(ii)cabl/
Multiplying equation (ii) by 2 and adding in equation (i) S+ 2 = 14
3z +2y=14 .
2¢ — 2y = 16 (1 Mark) 2z — 2y = 16(#1)
5 = 30 5x = 30
T = (2 Marks) /7}2)
Put in equation (ii) . ..
. oo &’
6 y—38 (1 Mark) e STt {L/
—y=8—6 (1 Mark) 6—y =801
—y =2 —y=8—-6(~1)
y=—2 (2 Marks) Yy =2
Solution Set= {(6, —2)} (1 Mark) y— —2 (/,22)

e = {(6,-2)}FD

The sum of the present ages of Hayqa and Shafee is 10 years, Shafee is elder than Hayqa by 6 years.Find the present age of Shafee. (7
Marks)

Do frirdl -ctzdebe Fo8 10578 f 2 §E 51 50
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Let the present age of Shafee = x years
and
The present age of Hayqa =y years

The sum of their present ages = 10 (1 Mark)
z+y = 10 (1 Mark)
Shafee is elder than Hayqa by 6 years

z—y==~6 (1 Mark)

Hence the simultaneous linear equations are:
x+y=12 (1 Mark)
rT—y==~6 (1 Mark)

2x = 18 (1 Mark)

xr=9 (1 Mark)

present age of Shafee =9 years
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ozl Se=yJ
J!‘{K/’o;}?/d/w:mg)l/(/l)
x+y= 10(/1)
etz ge S0E =6l
x—y :.6(/121)

S A
z+y=12 (/.“21)
xr—y==~6 (/1)

2z = 18(1)
w=9(/7’;1)
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